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OO gsort mO 70O 2 I O

gsort mO7AT S ALILITDERD,

function qgsort_m(lst, m){
if (lst.length < m) return 1lst
else {
var key = 1st[0]
var 1t )
var eq
var gt L)
for (var i = 0; i < lst.length; i++){
var ele = 1lst[i]
if (ele < key) 1lt.push(ele)
else if (ele > key) gt.push(ele)
else eq.push(ele)

¥

return gsort_m(lt, m).concat(eq).concat(qsort_m(gt, m))

}
print(gsort_m(I[5, 6, 5, 4, 3, 2, 3, 1, 8, 7, 5], 3))

R o 2,1,3,3,4,5,5,5,06,8,7
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function insertion_sort(lst){

var n = Llst. length;

var 1, j, k, tmp;

for (i = 1; i < n; i++){
] =1-1;
while (j >= 0 && Ust[j] >= 1stl[i]l ) j =3 - 1;
tmp = lstl[i];
for(k =1 -1; k> j; k—)

stk + 1] = lst[k]:

Ist[j + 1] = tmp;

} /% for x/

return Ulst;
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return insertion_sort(gsort_m(lst, 7));
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function test2(){

var datl = [], dat2;

var N = 100000;
var 1i;
var tl1, t2, t3;

test2()ZzAAWVWTY —YDEEEZ LR UL THB.

1Y —-Y3VV—-—rZRAVWSEERILT D

function printit(dat){

puts(dat[Q] + "——

¥

for (i = 0; i < N; i++)
datl.push(Math.random());
dat2 = datl.slice(0);

printit(datl);

t1l = new Date();
datl = kadai(datl);
t2 = new Date();
printit(datl);

dat2 = gsort_m(dat2, 1);

t3 = new Date():
printit(dat2);

" + dat[Math.floor(N / 2)] + "——-

" +dat[N - 1]);

0.1843555738482121-—-0.7066564708
050482———0.707661069116636
0.0000027152999912960496——0.5002
977526760839—--0.9999982349189279
0.0000027152999912960496——0.5002
977526760839—--0.9999982349189279
458 ms; 571 ms

puts((t2 - t1) + " ms; " + (t3 - t2) + " ms");



